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2714 |2 MFE EREEl BEM BEE™ B | H 2,000 7Kg
275 |FE BRE BREE| BET BEET B | #H 5,000 | 7K i
276 |BRFx 1E EREEl BEM BEE™ ¥ | 1H 2,000|ERHE
2717 |5 KN BREESEl BEM BEH BE | B 100,000 |7
218 |IREE f5— BRER| EBEW BEM BE | H 30,000 =, =
279|=8 mA BREESEl BEM BEH BE | B 40,000 |7k 75




No. ESHERHE ERRERANE

K& (&) " T4 WETA | BERE | #E (M) | FEER e
280 |FFiEE HASH|EBREER| BES BES BE | A 2,000,000| & £HED
281 | FmEE KASH|BREEBR| BEM BEM BE A 2,000,000| 8 KMEY)
282 |aRat vr7-aX | BIRER| BEM BEE™ BE | A 5,000,000 [+ = omnen
283 |ketett w3 |BREER| BEM BEEM BE | A 2,000,000 [s=s0sne. 2050
284 |ttt Ta Ly P | BEIREE| BEH BES BE | A 10,000 &1t 4
285 |7k {5k BRESE| BET BEET BE | M| 200,000|v»*, evnx
286 |HHP & A BREE| BET BE® BE | M 10,000|EA%HE®
287 |#BE F= BREREl BEM BEH BE | /A 30,000 [ =, 4@
288| LR = BREE| BEREM | Z|;KH E;X | H 5,000( ER &
289 X8 BREE|[ KM F|NKTH /K | A 5,000 | =E
290 [Nk Rk BREE| K | = | M 5,000 >4 >
291 | R BREE| EXH F|NKTH FEK H 5,000(
292 |ustaie paxavy-4 | BIBER| E|AH i E;X | B 10,0002k
293 |tstat paxavr-4 |BIRER| A ;KT @;K | H 10,000 [
294 |rstaie paxavy-4 | BIBRER| EAH i =k | M 10,000{ 4 >4 >
295 [%EHet Ak |BREBR| ZE|AM F|NKTH FEK H 5,000(
296 | =tt Kk |BIREBR| E|AKW | = | M 5,000 >4 >
297 |&% T BREE| EXH F|NKTH /K | A 5,000{4 >4 >~
298 [t % BREE| K i 7] E; | H 5,000 [
290 |mzsa AFremssstan |EIRBEE| FEAKW ;KT K A 5,000/ Y~1%E
300 |ezsn AFrEmsssten |EIREE| AW FEAKT FHEK H 5,000(%
301 (3RO FIFB IR B | HERFL| FEnEssn| HER | A 2,800| 7k
302 |[izR H= IR BB | Frraspn| fEREsp| HEE | A 1,600|7K %
303 [#MRett =@EE|ERBEE|gNmkklr| FERseal| RER | M 990 | EHEF
304 |ZE  HAKER IR BB rrraspn| fERaEspn| HEE | A 8,800 |7k, WCS
305 |&H IEA BEIRE R | FEERRRE| FERESRY| HER | H 8,200 [k FF
306 [mrra7av=s trasi | B IR B2 | AFERRSHTAT| FEEASTAT) HMK | M 9,000| & KHEY
307 |mmzarav=s rasten | BB G B2 | FBERSHITET srEmEAma| R4S | @ 50,000 [sres rozean 12
308 [mHzavay=s rusait | BB IR SR | AR IET| FRmeAmwa| R4 JH 100,000 [ r7eemn 52
309 [mmravav=s ruzan | EEIR BB | FFERESETHT| FESEARE| {£% Y 50,000 [ss toazs s
310 |mmzaravas tusas | B IR B IR | FIERRSLE| FEBEARE| (£% H 50,000 [srne sozeas
311 |kHF &L B2 R B 2 | AFmEsATAH T | FEERETEET| =il | @ 4708l —<
312 | k¥ Bt BREE| BB B BER | H 10,000] 7K
313 |FilE B— BREE| SR BRH BAER | H 10,000 7K
314 |1lL 5T =R | EEE B BAER | 4E 100,000 | E#BF
315 [BReit su->T-2| BIFE | HES =)l BFES | 4E 500,000 | FE#HEF
316 [akat su->z-z2| BIFE | WS =3 BFER | H 100,000] 7K
317|5A B BREE| BRM =] BAER | H 10,000 7K
318 |FAHE A BREE| FNM BRM K& | H 3,000 |7k
319|1eno7-x #atai| BEE | #BEWH =)l = | 500,000 |snaz -2
320 [awat su->z-z2| BIFE | ZEH =3 & | A 500,000 | FEHEF
321 |Bman su—rz—x| =SS | EIKE BRH =5 | |H 100,000 |7k F
322 |K#E =R BREE| FNM B = | A 100,000| =%
323|BR #i— BRSE| BNT =hanE = | M 10,000|EARHMED
324 |t SOz |BRER| EHEM | ThEW | EHE | M 30,000 |BRHEY)
325 [#Hhatt ANEZ|BEBR| SHEMm | ShEd | SH& | B 5,000|kfE. A&
326 |ketatt HNRE|BREESR| EHEM | ThEtm | E/HE | B 5,000 | 7K i




No. ESHERHE ERRERANE
K& (&) " T4 WETA | BERE | #E (M) | FEER e

27| KA RF BRER| &hm&m | &mEm | Al | /@ 8,000|’—~< v~
328| X% R— BREE| &mEm | HfmEdm | b | 5,000 —~ >
329 |#atatt mauwaka farm| BEIR SR BHRW | EfET | AL | K 10,000|x% %, ax
330|mA EE BRER| &4a&m | &hEm | AL | /@ 5,000 —~ >
331 |bpsZoeERAES | BIEESR| EHEMm | ThEm | BAH | B 10,000|MEE%BP 2K
332 |6RAs xB7SY |BRER| EhEm | &M | BH | # 5,000|%%%. Az
333(BR IEM BRER| &hEm | ThEm | BH | B 8,000[1Z5 hAE
334 |ERai BHETCU|BIEEE|enBAkE| EAES | B | @ 5,000 | mos. s <o
335 |kEtatt ANEXE | BREESR| E/HEM | ThEh | BH | B 10,000|7Afg. A%
336 |htatt FNERE|EREBR| ThEm | ThEH | BB | B 10,000 7K
337 | =tt EZE (BRER| EHEm | ThEh | AH | B 15,000 7K

338 |ztsn WYL |BRER| EhEm | EhEm | BH | @ 5,000 |7k i

339|F%F T & BRER | anmAni| EmEm | BB | B 2,000 |BRHEY)
340 (% B BREE| &atm | EfhEm | BHE | MM 5,000 w5 V)
341 |%@c 1= BRER| &hEm | ThEm | BH | B 5,000| &%}

342 |4Ede &F BREE| &atm | EfhEm | BHE | MM 8,000 |EARHEY)
343|18A FHE BRER| &hEm | ThEm | BH | B 2,000 |7k 75

344 | THs EE B2 IR B 2 | e REs kT | SAE AR KiE | H 785 |7k
345|THE A= IR R | enmpAler| snmaker| K | @ 486 |k

346 | T1E HE BEIRE R | e NEAISE | gimalstr| AF | @ 577|7kFg

47| THE EE IR R | enmAler| snmaktr| K | @ 4187k

348 | T EE BEIRE R | e NEAISE | gimalstr| AF | @ 265|7kFig
349|THE A= IR R | enmAler| snmaktr| K | @ 715 |k

350 FHE E=E B2 IR B 12 | e NEs kT | SRE AR Kl | H AT70|7K G
3Bl|5F &= BRER| EhEm [anmame K& | /M 1,895 [ v~y - &
3b2|5EH EZ BREE| BAEm |gnAki| K& | 1,005 %~ - #
353 ||A F— IR R | enmaer| snmaker| K | @ 567 | K7
3B/ARAE F— BEIRE R | e NBAISE | gimilstr| A% | @ 485 |k

355 ||A F— IR R | enmaer| snmaker| K | @ A46 |k

356 |IRA F— BEIRE R | e NBAISE | gimilstr| A% | @ 561|7kFig

357 ||A F— IR R | enmaer| snmaker| K | @ 375 |k
3B8|IRA F— BEIRE R | e NBAISE | gimilstr| A% | @ 390|7kFE

359 ||A F— IR R | enmaer| snmaker| K | @ 589 [k

360 |3RA F— BEIRE R | e NBAISE | gimilstr| A% | @ 99| 7Kg

361 ||A F— IR R | enmaer| snmaker| K | @ 550 [k

362 IRA F— BEIRE R | e NBAISE | gimilstr| A% | @ 615 |k

363 |/A F— IR R | enmaer| snmaker| K | @ ATT K7

364 |FH BE BEIRE R | e NEAISE | gRmmalsEr| AF | @ 1,373 |7k

365 |FH BEE IR R | enmaer| snmaker| K | @ 2,414| 7K ¥

366 |FH BE BEIRE R | e NmAISE| gnmilsEr| A% | @ 1,204 |7k

367 |FH BEE IR R | enmaer| snmaker| K | @ 792 K7

368 |FH BE BEIRE R | e NmAISE | gnemmilstr| AF | @ 1,802 [k

369 |FTF YnwF BRER| EhEm |anmamer| A& | B 3,532| 7k FH

370 |gme su-vrr—u |[BIREE| BEM |[B8RBAKE| K& | M 6,798 K- Az -t
371 |amait vu—>7,-4 |BIESE| BEM |BREARE| K& | M 4,300|#m - A - 15
372 [Eman vu-v7r-u |BREBE| BEM |[SREBAEE KEF | M 3,900 |x#- Az -
373|amait su-—>7,-4 |BIESE| BEEM |BREARE| K& | M 704 |xm- 1z - ua




No. ERABERHE BRREBANE

K& (&) 2 L) GiliEs) 55X | #hE &g () R FEER EEEGESC]
374 |smait vu—>7,-4 |BIESE| BEEM |BREARE| K& | M 2,321 (% A% - 1
375 |BRE&ME KEER|BIRE R | SREAKE| SREBAIBE| KL JH 3,064 |xi- s vy ui
376 |BRaH RFRE|ERSR| gRmAstr| SNkl Kig | /A 2,960 |xs - v v
377 |BREME RFEE|BIRB R | SREBAKE| SREBAIBE| KU JH 1,152 [ s v um
378 |Bmai BHET/Y |EIRS R | SREBAIBE| SARAKE| KiF | /A 2,384 wa- 55 - um
379 [ERait BHETFSY |EIRE R | SRBAEET| SRABE| KIEF | X 1,213 |t ciws -
380 [#hatett KNS | IR S R | SRBAIBE| HREkkET K | B 1,062 [ /K7
381 |HAEH  PBRKEE | IR B IR | S REPAISET| S AKET|  KIF H 1,084 |7k#g
382 Aot BERE|ERSR|SRBAIBE| SARAKE| KiF | /A 1,100 fre- e e
383 Aot BOLE|ERESR| SRS SARAEET| KiEF | M 4,552 |z
384 |E BUE B2 IR B8 | SN ER K IET | SAERASET|  KIE | A0 2,585 |4 E
385 |HEE BUE BE IR B8 | S RER AU ET| B AIAET|  RIE | A 2,529 | &
386 |fERF = BRER| Bk | ickm | & | MM 2,000 [#4Ls mnoLs
387 |@II RIAT BRER| faxkm | Azkm ik H 2,000 =& AKTE
388 |TFE A BRSE| fekm | Bekm | 1M | M 6,000 |4 &
389 |iEhF EEE BRER| fazkm | Aigkm | BN | M 3,000 |p4L s wavis
390 (A & BRER| Bk | igkm | BN | M 2,000 [ze5z0 2osue
391 |@)l RIAT BRER| fazkm | Aigkm | BN | M 18,000 |s>sve wereon v
392 [t ®E BRER| fixekm | Biekm | EBL | /@ 2,000(snuL .t
393 |85 & BRER| faxkm | Azkm EE H 2,000 =& AKTE
394 IFH EX BREBE| ik | fickm xFEH A 1,000|x &5 T
395 |7RHE LX BRER| fiekm | fiekm | &F | M@ 2,000{F &5 &
396 [PE WA BRER| faekm | ickm | Bk | 4 4,000 [ onve v
97T #He= BERE B | pentm?h| neBn+E7n| S JH 3,725(x &5 =00
398|kLE &=XR BRER| faxckm |renagrn| 2/ A 6,148|x &5 &V
399 |mstan amr-savov=vy | EEIB BB | ermaEyar| @ EE A 1,200| B
400 |F# B IR e 8 (repomrn| renrErn| EE | 436|7nvay—
401 |t PETRER | BIRER | sendare| wensaEre| EH JH 4934|152V
402 |BF BAR IR B B | sexmaiET | remarErh| HSE | 4 6,662| <> 37—
4103 (EBE BA BEIRE B | emphmrar| emh@Ese| EH 1 5,883|x & Er
404 3BT =EE B8 E S | pemntmre| entEre| BHR | /@ 4349(x &5 50
405 |hA & EIREE | seprEry| rensEre| BHR | A 5,644 4=
406 |l EX BRER | remtmro| menadrn| EHR A 18,040z &5 &0
407 |5kE —F& EIRE B | kensmr| penamre| BEHE H 1,293|7KFig
408 |BE K FHig BIRE B | et neneEren| BHR | 10,959|x &5 =
409 |x #EF BEIRE R | =maET | emr@Th| NE | M 7,140|x &5 &V
410 |#D 1& IR BB memsmre| @ MNE | /@ 5,321|7Rvay—
411 |mazn wnr-snvsv=>r | BB IR BB | e mem@Tor| emeETa| WE | M@ 132|EH=
412|778y =R BRE R |remrmrn| rentaro HNE A 6,619|x &5 &V
413 |=pE B B e 8 (remomre| ensEre| WE | /@ 4056|350
414 |3=mEE B BRE R |remrmrn| rentaro HNE A 5,955|x &5 &)
415 | TH & EIHE S (eepimre| rentmrn| BT | @ 3,398| ¥
416 | TH BIRE B [remrmre| remprEre| BFEAT | M 3474|853
A17|TH BEIREE | wenamrn| reneEre| FET | 4@ 5,652 |3
418 [smen mrsmsasesso | IR BB | seme@Tn| eemsdrn| BT | 1@ 9,320|& &5 &
419 | ARE  #i— IR E B | kemrmrm| renrare| B | /@ 5,664|x &5 &V
420|128 E=E BIRE B [remrmre| remprEre| ML | M 8,722 |83




No. ERABERHE BRREBANE

K& (&) ] HIBT# HETH | BERE (M) | FEER e
421 | R BEIREE | menrmEre| renamrer| BRI L 2,722\ 5%
422 |HF¥ B'A IR B S | eemmmre| rensmrer| B9 1,161|8=
423|Fw IE EIREE | rentErn| rensErn| SHA 2,632|WCS
24|\ &2 B8 E 8 kentmro| renaErn| SHA 2764 |5 &L
425|1HE = EIREE | renrErn| rensErn SHA 3,094|H%
426 Bt BE— BEIRE R | e=nRETn| ena@rn JHA 1,348z 5 =
427 |FHE R B8 BB | semamTer| rentmrer| SRA 8,005z 5=
428 |[ET  #ktb BEIRE B | wenmmrn| penamEre| XK 4,000 7k Fg
429 iRk 5B BEREE | nenmEra| wendErn BSHE 5,000 |7k Fg
430 |smait poLssmeens |[EEIREE| EIRER |wesmEre| FiL 2,500 t&E
431 (R EE BREE| &®EN B/EM EH) 15,000{x &5 =W
432 BB BE BRESE| T®ET #BwEM ol 8,000 % - 2
433 | KM R BREE| &®EN B/EM EH) 20,000|x &S5 =V
4341)11%8 B BREE Emh = A 2,000|x 5=
435 | KfE BREE| &®EN B/EM EH) 10,000z &5 =W
436 |7 FESA BEREE| &®EM #BwEM A 3,100|x &5 &0
437 |58 BREE| &®EN B/EM EH) 20,000 | £
438 |EE  HRER BEREE| &®EM #BwEM A 4,000(x &5 =
439 |8 Htb BREE| &®EN B/EM EH) 10,000(x &5 =V
440 |%pisr  fRA0 BREE = = Ey 30,000 k¥
447 |8RE  EKEBP BIR B8 | K SRREBET | A SR EEMAT| KBS 15,934(7=A DA
442 | \LE =8k BEREE|XEBER| ASBERE| =5 647|E S =V
44318 EF EBRER|AEBERT| AEBMER| =R 2,555 |8%%
444 |rstait 7r-n7ooER | BIRE R | KEHMERE| AEMERE| =57 3,003|x>H
445 |1tk HB— EBRER|AEBERT| AEBMER| =R 3,340|x &5 =0
446 |rsmars crzEgs |BIRER | XBBESRET| ASHERE =R 27,9715 &
44718 TIF IR BB | K BEMFLAT| K BERFILET|  FAIHE 2382\ hyxE
448 |BXH #H— B2 IR B 12 | K BEMPLAT| K SEREHLET @ - i 3,615|% ke
449 [ars A fE IR BB | KemEz iy K BESRALET| sis - nas 4030[% ruxe
450 |[FER &R B2 IR B2 | K BERHIAET | K BEADEET| 13 2,000 |SRHEY)
451 | KRE FE B2 IR BB | K SEBHIART| K BERADEAT|  H13H 2,000 |BRHEY)
452 |FTih M EIREE | xemmat| xemmair| A 2,000(# byxE
453K BF IR BB | kemmur| A sasian| 38 2,000 |EFHHEY
454 15k B\ IR B2 | xeEfaeT| Kemmair| A 2,000(# byxE
455 | HFF IR BB | kemmur| A sasian| 38 2,000 |EFHHEY
456 |HF B B2 IR B2 | K BERHAET | K BEADEET| 13 2,000|E#5%E
457 |18k &I IR B2 | kepinnT| A emmair|  #A 2,000|% kv *E
458 A TTE EIREE | KEmMAH| KBBMLE| FREE 3,000|x &5 &0
459 | ™H  FE EIREE | kamman| Aeimanr| MY 4500|x &S5 &
460 |5H A= BEIREE | kemman| Aeimanr| B 29,000(x &5 &
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